

Bo Chen

On a sum involving the integral part function

Czechoslovak Mathematical Journal, Vol. 74 (2024), No. 2, 437–444

Persistent URL: <http://dml.cz/dmlcz/152451>

Terms of use:

© Institute of Mathematics AS CR, 2024

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON A SUM INVOLVING THE INTEGRAL PART FUNCTION

BO CHEN, Shanghai

Received August 7, 2023. Published online February 20, 2024.

Abstract. Let $[t]$ be the integral part of a real number t , and let f be the arithmetic function satisfying some simple condition. We establish a new asymptotical formula for the sum $S_f(x) = \sum_{n \leq x} f([x/n])$, which improves the recent result of J. Stucky (2022).

Keywords: asymptotical formula; exponential sum; exponential pair; integral part

MSC 2020: 11L07, 11N37

1. INTRODUCTION

Let $[t]$ denote the integral part of a real number t . The problem of evaluating the sum

$$S_f(x) = \sum_{n \leq x} f\left(\left[\frac{x}{n}\right]\right),$$

where f is an arithmetic function, has received much attention. For example, when $f(n) = n$, the problem becomes the Dirichlet divisor problem. If f is any other arithmetic function, the problem was first studied by Bordellès et al., see [3]. Subsequently, Wu in [10] and Zhai in [11] independently showed that

$$S_f(x) = C_f x + O(x^{(1+\alpha)/2}(\log x)^\theta),$$

where

$$C_f = \sum_{n=1}^{\infty} \frac{f(n)}{n(n+1)} \quad \text{and} \quad f(n) \ll n^\alpha (\log n)^\theta$$

for some $\alpha \in [0, 1)$ and $\theta \geq 0$. Most recently, if f satisfies $f(n) = \sum_{d|n} g(d)$ with

$$\sum_{d \leq x} |g(d)| \ll x^\alpha (\log x)^\theta$$

for some $\alpha \in [0, 1)$ and $\theta \geq 0$, Stucky in [9] showed that

$$S_f(x) = C_f x + O(x^{(1+\alpha)/(3-\alpha)} (\log x)^\theta),$$

where θ should be replaced by $\max\{1, \theta\}$ if $\alpha = 0$. For some specific f , one can also refer to [5], [7], [6].

In this paper, motivated by the work of Stucky (see [9]), we prove Theorem 1.1, which is indeed an improvement of the result of Stucky (see [9]) in the exponent of x , but a possible loss in the exponent of $\log x$.

Theorem 1.1. Suppose $f(n) = \sum_{d|n} g(d)$ and, further,

$$(1.1) \quad \sum_{d \leq x} |g(d)| \ll x^\alpha (\log x)^\theta \quad (x \rightarrow \infty)$$

for some $\alpha \in [0, 1)$ and $\theta \geq 0$.

(1) If $0 \leq \alpha < \frac{1}{3}$, then

$$S_f(x) = C_f x + O(x^{1/3} \log x).$$

(2) If $\frac{1}{3} \leq \alpha < 1$, then

$$S_f(x) = C_f x + O(x^\alpha (\log x)^{1+\theta}).$$

Remark 1.1. Clearly, $\frac{1}{3}$ is smaller than $(1+\alpha)/(3-\alpha)$ when $0 < \alpha < \frac{1}{3}$. On the other hand, when $\frac{1}{3} \leq \alpha < 1$, we have $\alpha < (1+\alpha)/(3-\alpha) \Leftrightarrow 3\alpha - \alpha^2 < 1 + \alpha \Leftrightarrow 0 < (\alpha - 1)^2$. Thus, the exponent of x in Theorem 1.1 is better than that in [9].

Corollary 1.1. Let f be the divisor function

$$f(n) := \sigma_{-1/2}(n) = \sum_{d|n} d^{-1/2}.$$

Then, we have

$$S_f(x) = C_f x + O(x^{1/2} \log x).$$

Proof. Clearly $g(d) = d^{-1/2}$ at this time, thus $\sum_{d \leq x} |g(d)| \ll x^{1/2}$. Taking $\alpha = \frac{1}{2}$ in Theorem 1.1, we are done. $\square$

For $n \geq 1$, the Euler totient function $\varphi(n)$ is defined to be the number of positive integers not exceeding n which are relatively prime to n .

Corollary 1.2. *Let f be the function*

$$f(n) := \frac{n}{\varphi(n)}.$$

Then, we have

$$S_f(x) = C_f x + O(x^{1/3} \log x).$$

Proof. Since

$$\frac{n}{\varphi(n)} = \sum_{d|n} \frac{\mu^2(d)}{\varphi(d)}$$

(see Exercise 2.3 in [1]) and

$$\sum_{d \leq x} \frac{1}{\varphi(d)} = O(\log x)$$

(see Exercise 3.10 in [1]), we have

$$\sum_{d \leq x} |g(d)| = \sum_{d \leq x} \frac{1}{\varphi(d)} \ll \log x$$

at this time. Taking $\alpha = 0$ in Theorem 1.1, we are done. $\square$

2. NOTATION

Throughout this paper, $U \ll V$ and $U = O(V)$ both mean $|U| \leq CV$ with some constant $C > 0$. We also write $n \asymp N$ to denote that $N < n \leq 2N$. We let, as usual, $\psi(x) = x - [x] - \frac{1}{2}$ and $e(t) = e^{2\pi it}$.

3. PRELIMINARY LEMMAS

To prove Theorem 1.1, we need some lemmas.

Lemma 3.1. *Let $H \geq 1$. There are functions $a(h)$ and $b(h)$, such that for $|h| \leq H$ we have*

$$a(h) \ll \frac{1}{|h|}, \quad b(h) \ll \frac{1}{H}, \quad \text{and} \quad \left| \psi(t) - \sum_{1 \leq |h| \leq H} a(h)e(ht) \right| \leq \sum_{0 \leq |h| \leq H} b(h)e(ht).$$

Proof. See Theorem A.6 in [4]. $\square$

The next two lemmas play a key role in the proof of Theorem 1.1. To prove them we make use of exponent pairs, the definition and basic properties of which can be found in Section 3.3 in [4] or Section 6.6.3 in [2].

Lemma 3.2.

$$(3.1) \quad \sum_{n \asymp N} \psi\left(\frac{x/d}{n+\delta}\right) \ll \left(\frac{Hx}{dN}\right)^{1/2} + \frac{dN^2}{x} + \frac{N}{H} \quad (x \rightarrow \infty),$$

where $1 \leq H \leq N \leq x/d$ and $0 \leq \delta \leq 1$.

Moreover, we get that

$$(3.2) \quad \sum_{n \leq \sqrt{x/d}} \psi\left(\frac{x/d}{n+\delta}\right) \ll \left(\frac{x}{d}\right)^{1/3} \log x \quad (x \rightarrow \infty).$$

Proof. From Lemma 3.1, we find that

$$(3.3) \quad \sum_{n \asymp N} \psi\left(\frac{x/d}{n+\delta}\right) \ll T_1 + T_2 + T_3,$$

where

$$T_1 = \sum_{n \asymp N} \sum_{1 \leq |h| \leq H} a(h) e\left(\frac{hx/d}{n+\delta}\right), \quad T_2 = \sum_{n \asymp N} \sum_{1 \leq |h| \leq H} b(h) e\left(\frac{hx/d}{n+\delta}\right),$$

and

$$T_3 = \sum_{n \asymp N} b(0).$$

Applying the exponent pair (k, λ) to the sum over n , we obtain

$$(3.4) \quad \sum_{n \asymp N} e\left(\frac{hx/d}{n+\delta}\right) \ll \left(\frac{hx}{dN^2}\right)^k (N)^\lambda + \frac{dN^2}{hx}.$$

Taking $(k, \lambda) = (\frac{1}{2}, \frac{1}{2})$ in (3.4), we derive that

$$(3.5) \quad T_1 \ll \sum_{1 \leq |h| \leq H} a(h) \left(\left(\frac{hx}{dN}\right)^{1/2} + \frac{dN^2}{hx} \right) \ll \left(\frac{Hx}{dN}\right)^{1/2} + \frac{dN^2}{x}.$$

Clearly

$$(3.6) \quad T_2 \ll T_1,$$

and

$$(3.7) \quad T_3 \ll \frac{N}{H}.$$

From (3.3), (3.5), (3.6) and (3.7), we obtain (3.1). Now we write

$$\sum_{n \leq \sqrt{x/d}} \psi\left(\frac{x/d}{n+\delta}\right) = S_1 + S_2,$$

where

$$S_1 = \sum_{n \leq (x/d)^{1/3}} \psi\left(\frac{x/d}{n+\delta}\right), \quad \text{and} \quad S_2 = \sum_{(x/d)^{1/3} < n \leq \sqrt{x/d}} \psi\left(\frac{x/d}{n+\delta}\right).$$

Clearly $S_1 \ll (x/d)^{1/3}$. Let us proceed to estimate S_2 .

Taking $N/H = (x/d)^{1/3}$ in (3.1), we get that

$$\sum_{n \asymp N} \psi\left(\frac{x/d}{n+\delta}\right) \ll \left(\frac{x}{d}\right)^{1/3} + \frac{dN^2}{x}.$$

Hence,

$$S_2 \ll \left(\frac{x}{d}\right)^{1/3} \log x.$$

Therefore, we arrive at (3.2). □

Lemma 3.3 is Euler's summation formula, which is Theorem 3.1 in [1].

Lemma 3.3. *If f has a continuous derivative f' on the interval $[y, x]$, where $0 < y < x$, then*

$$\sum_{y < n \leq x} f(n) = \int_y^x f(t) dt + \int_y^x (t - [t]) f'(t) dt + f(x)([x] - x) - f(y)([y] - y).$$

Lemma 3.4. *Let $\sigma_u(x)$ be defined by*

$$\sigma_u(x) = \sum_{n \leq u} \left(\psi\left(\frac{x/d}{n}\right) - \psi\left(\frac{x/d}{n+1/d}\right) \right),$$

where $\sqrt{x/d} < u \leq x/d$. Then we have

$$\sigma_u(x) \ll \left(\frac{x}{d}\right)^{1/3} \log x \quad (x \rightarrow \infty)$$

uniformly in $d \leq x$.

Proof. Following the calculation of $\sigma_u(x)$ on page 219 in [8], we write

$$\sigma_u(x) = H_0(x, u) - H_{1/d}(x, u), \quad H_\delta(x, u) := \sum_{n \leq u} \left\{ \frac{x/d}{n+\delta} \right\}.$$

Let us consider the planar domain D_δ : $\sqrt{x/d} < a \leq u$, $0 < b \leq x/(d(a+\delta))$; denote by $L(D_\delta)$ the number of lattice points in D_δ and by $V(D_\delta)$ the area. Then we have on the one hand (with $F(a) := x/(d(a+\delta))$)

$$L(D_\delta) = \sum_{\sqrt{x/d} < a \leq u} [F(a)] = \sum_{\sqrt{x/d} < a \leq u} F(a) - H_\delta(x, u) + \sum_{a \leq \sqrt{x/d}} \{F(a)\}.$$

By Lemma 3.2, we get that

$$(3.8) \quad \sum_{a \leq \sqrt{x/d}} \psi(F(a)) = O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right).$$

Hence, applying Lemma 3.3 to $\sum F(a)$ and using the estimate

$$\int_{\sqrt{x/d}}^u \psi(a) F'(a) da \ll \max_{\sqrt{x/d} \leq a \leq u} \|F'(a)\| \ll 1$$

(based on the second mean-value theorem), we obtain

$$(3.9) \quad \begin{aligned} L(D_\delta) &= V(D_\delta) - \psi(u)F(u) + \psi\left(\sqrt{\frac{x}{d}}\right)F\left(\sqrt{\frac{x}{d}}\right) - H_\delta(x, u) \\ &\quad + \frac{1}{2}\sqrt{\frac{x}{d}} + O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right). \end{aligned}$$

On the other hand (counting the lattice points “in the other direction”) we get (with $G = F^{-1}$, i.e, $G(b) = x/(db) - \delta$)

$$L(D_\delta) = \left([u] - \left[\sqrt{\frac{x}{d}}\right]\right)[F(u)] + \sum_{F(u) < b \leq F(\sqrt{x/d})} [G(b)] - \left(\left[F\left(\sqrt{\frac{x}{d}}\right)\right] - [F(u)]\right) \left[\sqrt{\frac{x}{d}}\right].$$

Similar to the estimate of (3.8), we infer that

$$\sum_{F(u) < b \leq F(\sqrt{x/d})} \psi(G(b)) = O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right).$$

Now we apply Lemma 3.3 to $\sum G(b)$, simplify and collect the terms which represent $V(D_\delta)$. This yields

$$(3.10) \quad \begin{aligned} L(D_\delta) &= V(D_\delta) - \frac{u}{2} + \frac{\sqrt{x/d}}{2} - \psi(u)F(u) + \psi\left(\sqrt{\frac{x}{d}}\right)F\left(\sqrt{\frac{x}{d}}\right) \\ &\quad + \int_{F(u)}^{F(\sqrt{x/d})} \psi(b)G'(b) db + O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right). \end{aligned}$$

Let us put

$$J_\delta(x, u) := \int_{1/2}^{F(u)} \psi(b)G'(b) db, \quad C := \int_{1/2}^{\infty} \psi(b)b^{-2} db$$

and observe that

$$\int_{F(\sqrt{x/d})}^{\infty} \psi(b)G'(b) db = O(1),$$

then

$$\int_{F(u)}^{F(\sqrt{x/d})} \psi(b)G'(b) db = -\frac{Cx}{d} - J_\delta(x, u) + O(1).$$

Substituting this into (3.10) and comparing with (3.9) we obtain

$$H_\delta(x, u) = \frac{u}{2} + \frac{Cx}{d} + J_\delta(x, u) + O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right).$$

Now

$$J_0(x, u) - J_{1/d}(x, u) = -\frac{x}{d} \int_{x/(du+1)}^{x/(du)} \psi(b)b^{-2} db \ll \frac{x}{d} \int_{x/(du+1)}^{x/(du)} b^{-2} db \ll 1,$$

hence,

$$\sigma_u(x) = H_0(x, u) - H_{1/d}(x, u) = O\left(\left(\frac{x}{d}\right)^{1/3} \log x\right)$$

for $\sqrt{x/d} \leq u \leq x/d$, uniformly in $d \leq x$. □

4. PROOF OF THEOREM 1.1

Taking $m = [x/n]$, we then have $m \leq x/n < m+1$ and

$$\begin{aligned} (4.1) \quad \sum_{n \leq x} f\left(\left[\frac{x}{n}\right]\right) &= \sum_{m \leq x} f(m) \sum_{x/(m+1) < n \leq x/m} 1 \\ &= \sum_{m \leq x} f(m) \left(\frac{x}{m} - \psi\left(\frac{x}{m}\right) - \frac{x}{m+1} + \psi\left(\frac{x}{m+1}\right) \right) \\ &= W_1 + W_2, \end{aligned}$$

where

$$W_1 = x \sum_{m \leq x} \frac{f(m)}{m(m+1)} \quad \text{and} \quad W_2 = \sum_{m \leq x} f(m) \left(\psi\left(\frac{x}{m+1}\right) - \psi\left(\frac{x}{m}\right) \right).$$

Recalling the definition of f , we get that

$$(4.2) \quad W_1 = C_f x + O\left(x \sum_{m > x} \frac{m^\alpha (\log m)^\theta}{m(m+1)}\right) = C_f x + O(x^\alpha (\log x)^\theta).$$

We proceed to estimate W_2 . By Lemma 3.4 and partial summation, we have

$$\begin{aligned} (4.3) \quad W_2 &= \sum_{m \leq x} f(m) \left(\psi\left(\frac{x}{m+1}\right) - \psi\left(\frac{x}{m}\right) \right) = \sum_{d \leq x} g(d) (-\sigma_{x/d}(x)) \\ &\ll \sum_{d \leq x} g(d) \left(\frac{x}{d}\right)^{1/3} \log x \ll (1 + x^{\alpha-1/3} (\log x)^\theta) x^{1/3} \log x. \end{aligned}$$

Case 1: $0 \leq \alpha < \frac{1}{3}$. In this case,

$$W_2 \ll x^{1/3} \log x.$$

Substituting this and (4.2) into (4.1), we obtain

$$\sum_{n \leq x} f\left(\left[\frac{x}{n}\right]\right) = C_f x + O(x^{1/3} \log x).$$

Case 2: $\frac{1}{3} \leq \alpha < 1$. In this case,

$$W_2 \ll x^\alpha (\log x)^{1+\theta}.$$

Substituting this and (4.2) into (4.1), we obtain

$$\sum_{n \leq x} f\left(\left[\frac{x}{n}\right]\right) = C_f x + O(x^\alpha (\log x)^{1+\theta}).$$

The theorem is proved. □

Acknowledgments. The author is grateful to the editor and referee for their helpful suggestions.

References

- [1] *T. M. Apostol*: Introduction to Analytic Number Theory. Undergraduate Texts in Mathematics. Springer, New York, 1976. zbl MR doi
- [2] *O. Bordellès*: Arithmetic Tales. Universitext. Springer, London, 2012. zbl MR doi
- [3] *O. Bordellès, L. Dai, R. Heyman, H. Pan, I. E. Shparlinski*: On a sum involving the Euler function. *J. Number Theory* 202 (2019), 278–297. zbl MR doi
- [4] *S. W. Graham, G. Kolesnik*: Van der Corput’s Method for Exponential Sums. London Mathematical Society Lecture Note Series 126. Cambridge University Press, Cambridge, 1991. zbl MR doi
- [5] *K. Liu, J. Wu, Z. Yang*: A variant of the prime number theorem. *Indag. Math., New Ser.* 33 (2022), 388–396. zbl MR doi
- [6] *J. Ma, H. Sun*: On a sum involving the divisor function. *Period. Math. Hung.* 83 (2021), 185–191. zbl MR doi
- [7] *J. Ma, J. Wu*: On a sum involving the Mangoldt function. *Period. Math. Hung.* 83 (2021), 39–48. zbl MR doi
- [8] *A. Mercier, W. G. Nowak*: On the asymptotic behaviour of sums $\sum g(n) \{x/n\}^k$. *Monatsh. Math.* 99 (1985), 213–221. zbl MR doi
- [9] *J. Stucky*: The fractional sum of small arithmetic functions. *J. Number Theory* 238 (2022), 731–739. zbl MR doi
- [10] *J. Wu*: Note on a paper by Bordellès, Dai, Heyman, Pan and Shparlinski. *Period. Math. Hung.* 80 (2020), 95–102. zbl MR doi
- [11] *W. Zhai*: On a sum involving the Euler function. *J. Number Theory* 211 (2020), 199–219. zbl MR doi

Author’s address: Bo Chen, Sanda University, 2727 Jinhai Rd, Pudong, Shanghai, 201209, P. R. China, e-mail: bochen@sandau.edu.cn.